HOIM A A= [EX M63S2A7TMA] <HE 2014.3.14>

=1 pun § =
CI2t D23 T2 U SBIAE YAIA
(=)
1.J|2Atg
1 8oy SHUAIZZ RIS 2 NGRNSBHS(DRHSD)  [rex = wx = wxxxx
SHEN 49 REF 4 J|RHH 22 ZUWXEINE2CH
5 8AREFA jinfr@yuhs.ac 6 AtRAS 2014-12
7 dEHS 02 31420675 8IIRSEHM Ny 2010-06-30
9 ATHAI NE2SEA AUEFR MEZ112 55(FHFS)
2.0|1229 . X= A
(&= - &)
10 g 11 %=e 12 N& 13 &K gy B S &l
FSPILOE=] - - 230,772,488| 2014408 211,155,000 6,299,560 277,593,290
2014H01€ 45,720,000 10,281,095 266,211,393] 2014H09€ 323,534,423 586,855,114 14,272,599
2014H022 16,230,000 16,700,620 265,740,773] 2014EH102 18,945,000 14,278,680 18,938,919
2014032 10,598,794 20,712,472 255,627,095| 2014E11€ 11,670,000 19,882,161 10,726,758
2014H042 10,945,000 14,007,930 252,564,165| 2014122 21,901,669 16,026,300 16,602,127
2014H05€ 27,871,400 17,356,936 263,078,629 sHH| 725,760,198 939,930,559
20144062 15,468,412 9,575,391 268,971,650
ool - - 16,602,127
2014407€ 11,720,500 207,954,300 72,737,850
3. 0122 K& HAAM(2UAY)
(=S =)
_ 17HE XSHE
=2 22X a4 A 2oH
14 XN&E 15 NS5 16 X=H== (712 /0 01) 18 =
- 22 HE XNISHHE
feife=y=c =55 ool N =H
19 & 20 X 21 =35l (SR /001 23
0014 A0t 80 JtE K3 ALY 3,986 869,677,459
SHUAMS SRS AIR=2 2| 3,986 70,253,100
A 7,972 939,930,559
47122 NE SAMN(ZAAL)
(St @ &)
_ 28 U1E XIZ2HY
=2 29104 o225 oA oM
24 NI&€ 25 2JtY 26 AZ=H 27 N3+ (SR /ol 29 =N
- 4 UHE NSHHE
Ay =tY =55 =olold - =
30 ¢ 31 =0t 32 Xl 33 =35l (SIS ol) 35
sH| 0

He
i
0
>
il
o
=
Ty
il
-
o

0
[HME AIBA] MI6EHMIE L= MI6E2I2HBE 0 Wet 12t IIf3 2SN

o

20154 0338 31

ol SEF EXERT) [

Il

e

il

1]

= SIS
= N & & 25t

210mmx297mn[ &4 At X| 80g/m L= ZE X 80g/m']





